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B B ER R 4 40 81| 21.0] 60.0[&
&8 FA B 4 39| 80| 13.0| 67.0/BG &
AR 40 4 81| 12.0] 69.0/E
MI W —= 40| 42] 82| 13.0/ 69.0/ &
56 MR B— A 40/ 49] 89| 20.0 69.0/ &
6 ALk E 40/ 44) 84| 14.0] 70.0
M Ef & 46| 48] 94| 22.1] 71.9
8t [AA EBXF 4 431 84| 12.0/ 72.0
i |SHE #FE 39| 46/ 85| 13.0] 72.0
1061 [#ER AZE 450 M 86| 14.0] 72.0/E
6L R — 45 44 89| 16.9] 72.1
1262 |REA 44 44] 88| 15.7] 72.3
136 | & HF 42| 46] 88| 15.0] 73.0
1461 3R IEfEH 46/ 51 97| 24.0/ 73.0
156 AR EE—ER 4 47| 88| 14.8] 73.2
166 |EE Eif 42| 43| 85| 11.7] 73.3
1760 | kE  BEF 49 43] 92| 18.0] 74.0
1861 |FB =E£&F 43 43] 86| 11.7] 74.3
196 [ER Et 45 45| 90| 15.6| 74.4
206 =K #5& 50 41 91| 16.0/ 75.0/&
21 | Bl % 43 48] 91| 16.0] 75.0
201 [HHF EB 45 43| 88| 12.8] 75.2
232 A BEH 45 421 87| 11.7] 75.3
2460 B A 43 44] 87| 11.5] 75.5
25 |Ei5  fHEA 50 42| 92| 16.0] 76.0
2660 =l EF0 44 48] 92| 16.0] 76.0
2761 |R# Pk 44 44] 88| 11.3] 76.7
281 [thE WHE 4250/ 92| 15.0] 77.0
201 [{fEBE —EB 431 49] 92| 15.0] 77.0
3062 /MR BHAY 47 521 99| 22.0] 71.0/&
G e = 45 44] 89| 11.5] 71.5
326 |EE FRF 49 44] 93] 15.3] 71.7
L /MR B 45 46| o1 13.1] 77.9
M T #x 50 41 91] 13.0/ 78.0
B |RF EE 43 48] 91| 12.4] 78.6
361 [EEE NE 48] 52| 100 21.1] 78.9
3761 |FHE &dh 44470 o1 11.3] 79.7
Bz R ZEA 48] 46] 94| 14.3] 79.7
9 [MME E— 48] 44] 92| 11.6] 80.4
06 Bl BE 47 52 99| 18.6| 80.4/&
INCAES B 52| 48] 100 19.6| 80.4
261 SH BIF 42| 50/ 92| 11.5 80.5
436 [ FAE 53] 46/ 99| 18.4] 80.6
M PR = 48] 45| 93] 12.3] 80.7
4561 [#B4T  ERAl 45/ 51 96| 15.3] 80.7
4661 |IME —X 43 51 94/ 13.0/ 81.0
475 [BH Bsh 48] 50/ 98] 16.1] 81.9
4361 EM FR 47/ 49] 96| 14.0 82.0
96 X EE 49| 48] 97| 15.0] 82.0
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506 | iF 471 51 98] 15.6] 82.4|E
514 #l A 48| 53] 101 18.5] 82.5
52t B8 BN 54| 48] 102| 19.4] 82.6
53 [BH =E 42| 53] 95/ 12.0] 83.0
S |HEXR KRB 50| 48] 98| 15.0] 83.0
55(i [#EAR A 44 54/ 98] 15.0/ 83.0
560 X EX 51 50 101| 18.0/ 83.0
57 [#AHE XE 56| 53] 109 26.0| 83.0
58/x |t H=‘HE 51 49| 100| 16.4| 83.6
50 AL ZERE 50/ 49/ 99| 15.0] 84.0
606 R % 48] 48] 96| 11.3] 84.7/&
616 [#MA =EA 51 51| 102| 16.3] 85.7
6261 /AL Ez 49 60/ 109 22.3| 86.7
636 A ERAB 50 52| 102 15.2] 86.8
642 /T IEE 48] 53] 101 14.0] 87.0
6561 |&HF EHEE 46| 61| 107| 20.0| 87.0
666 |HhFt TR 53 53] 106| 18.0] 88.0
676 AfE EX 54| 51| 105 16.4] 88.6
684 |HE AR 52| 58| 110| 20.4] 89.6
695 =i ME 58| 55| 113 23.4| 89.6/BB
706 | ER BhE 62 59 121 26.1| 94.9
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